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QUESTION 1

View the Exhibit and examine the structure of the ORDERS table. The ORDER_ID column is the PRIMARY KEY in the
ORDERS table.

Evaluate the following CREATE TABLE command:

CREATE TABLE new_orders(ord_id, ord_date DEFAULT SYSDATE, cus_id)

AS

SELECT order_id.order_date,customer_id

FROM orders;

Which statement is true regarding the above command?

A. The NEW_ODRDERS table would not get created because the DEFAULT value cannot be specified in the column
definition.

B. The NEW_ODRDERS table would get created and only the NOT NULL constraint defined on the specified columns
would be passed to the new table.

C. The NEW_ODRDERS table would not get created because the column names in the CREATE TABLE command and
the SELECT clause do not match.

D. The NEW_ODRDERS table would get created and all the constraints defined on the specified columns in the
ORDERS table would be passed to the new table.
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Correct Answer: B

 

QUESTION 2

Which two are true about unused columns?

A. The DESCRIBE command displays unused columns

B. A primary key column cannot be set to unused.

C. A query can return data from unused columns, but no DML is possible on those columns.

D. Once a column has been set to unused, a new column with the same name can be added to the table.

E. A foreign key column cannot be set to unused.

F. Unused columns retain their data until they are dropped

Correct Answer: DF

https://decidhermfosvs.worddress.com/2Q07/11/15/back-to-the-basics-droDDing-unused-columns-in-oracle/

 

QUESTION 3

Which two statements are true about the WHERE and HAVING clauses in a SELECT statement? (Choose two.)

A. The WHERE clause can be used to exclude rows after dividing them into groups

B. WHERE and HAVING clauses can be used in the same statement only if applied to different table columns.

C. The HAVING clause can be used with aggregating functions in subqueries.

D. Aggregating functions and columns used in HAVING clauses must be specified in these SELECT list of a query.

E. The WHERE clause can be used to exclude rows before dividing them into groups.

Correct Answer: CE

 

QUESTION 4

Examine the contents of the EMP table:
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Examine this query that executes successfully: What is the result?

A. It will return the five employees earning the lowest salaries, in ascending order.

B. It will return the six employees earning the highest salaries, in descending order.

C. It will return the six employees earning the lowest salaries, in ascending order.

D. It will return the five employees earning the highest salaries, in descending order.

Correct Answer: A

 

QUESTION 5

View the exhibit and examine the structure of the CUSTOMERS table.
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Which two tasks would require subqueries or joins to be executed in a single statement?

A. finding the number of customers, in each city, whose credit limit is more than the average credit limit of all the
customers

B. finding the average credit limit of male customers residing in \\'Tokyo\\' or \\'Sydney\\'

C. listing of customers who do not have a credit limit and were born before 1980

D. finding the number of customers, in each city, whose marital status is \\'married\\'.

E. listing of those customers, whose credit limit is the same as the credit limit of customers residing in the city \\'Tokyo\\'.

Correct Answer: AE
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